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1 Sylowf+

2 ~f�A^
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Sylowf+

�|G | = pr ·m§Ù¥p - m"

½Â

f+P ≤ G¡�Sylow p-f+§e|P| = pr"

½n (Sylow 1872)

�|G | = p3 ·mXþ"Ke�äó¤áµ

1 �3Sylow p-f+"

2 Sylow p-f+�m�p�Ý¶�§þÓ��

3 Sylow p-f+��êµ´m�Ïf§Ù/Xkp + 1"

4 ?Ûp-f+B ≤ G§�3Sylow p-f+P÷vB ≤ P ≤ G.
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~fS4

~f
1 |S4| = 31 · 23

2 Sylow 2-f+Tk3��©O�(K4, (12)), (K4, (13)),

((K4, (14)))

3 Sylow 3-f+Tk4�"

4 S4�4-�f+Ø�½�p�Ý�2-�f+Qº
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~fA4

~f
1 |A4| = 31 · 22

2 Sylow 2-f+=k��§��5f+K4"

3 Sylow 3-f+k4�"
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35�+

·K

35�+7Ó�uZ35"

hint: �ÄSylow 5-f+P±9Sylow 7-f+Q; §�Ñ´�5f

+�
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108�+

·K

108�+oØ´ü+"

hint: |G | = 22 · 33"�ÄSylow 3-f+P§�ÄG�p��^

uG/P"KkÓ�

ρ : G −→ S(G/P)
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A^µk�Abel+

·K

�G�Abel+§÷v|G | = ps11 · · · psrr "KÙSylow pi -f+Pi�

�§�k

G = P1 × P2 × · · · × Pr .

�§8(uAbel p-+(�¯K�
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A^µ��ü+

½n

�G��Abelü+"K|G | ≥ 60"�§60�ü+7Ó�uA5.
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Ü©y²

1 �ÄX = {U ≤ G | |U| = pr}"KGyXXeg .U = gU.

2 5¿�p - |X | (Á'�i±9m · pr − pr + i�p-gê)

3 �3U ∈ X¦�p - |OU |"�Ä­½zfGU§

�|GU | = pr ·m′"

4 �, Gy
U U freely§ù�|GU |�Øpr"�k§|GU | = pr§�¤

¦�
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